2006 Middlementary Math Bonanza
Geometry Test Excerpt

. What isthe area, in square centimeters, of arectangle with sides measuring 8 and 12 cm?

. How many congruent cubical blocks are needed to build the stack shown?

. A cube has asurface area of 27 cm®.  What is the surface area, in square centimeters, of a
similar cube the edges of which are twice aslong as those of the origina ?

. What isthe area, in square centimeters, of an equilateral triangle with a perimeter of 24 cm?

. InAABC, AB=7cm, BC=11cm,and AC=12cm. If
D lieson AC suchthat BD bisects B, what isthe &
length, in centimeters, of CD ? A C

D
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